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State of New Mexico Form C-122
Energy Minerals and Natural Resources Revised October, 1999
Oil Conservation Division
2040 South Pacheco
Santa Fe, NM 87505 30-025-736 73
ULT& INT AND ONE POINT BACK PRESSURE TEST FOR GAS WELL
Lease or Unit Name STATE A A/C2
Ay / Test Date Well No.
&/ .
Q,gnitial | Annualls)/ - [ special 6/27/2005 82
Completion Bage _[TotalDepth Plug Back TD Elevation Unit Lir - Sec - TWP - Rge
5/2/200: :_i%: e 3995 . - 3690 3533 J 11 228 36E
Csg. Size Wi, d Set At Perforations: County
4172 11.6 | 3.723 3723 From: 2827 To: 3521 LEA
Tbg. Size Wt. d Set At Perforations: Pool
23/8 4.7 1.995 3200 From: To: . JAL MAT
Type Well-Single-Bradenhead-G.G. or G.O. Multiple Packer Set At Formation
SINGLE N/A YATES
Producing Thru Reservoir Temp. Mean Annual Temp. Baro. Press.-P, Connection
Csg. Size 102.3 @ 2827 60 13.2 SALES
L H Gg CO, %N, %H,S Prover - Meter Run Taps
2827 2827 0.7582 2 4.084 0 N/A 3.068 FLG
FLOW DATA TUBING DATA CASING DATA Duration
Prover Onfice Press Diff. Tem Press T Press T of
No. {Line X psig hy P ps.ig ermp- p.s.ig. emp-
Size Size ‘ Flow
SI 50
1 3X1.125 43 6.2 60 ‘ 7 24 HRS
2
3
4
5
RATE OF FLOW CALCULATIONS
N COEFFICIENT Pressure | Flow Temp. Super Compress Rate of Flow
0, J—_ .
(24 Hour) - P Factor Ft. |Gravity Factor  F, Factor F pv Q. Mcfd
1 6.095 10.42 17.5 1 1.149 1.005 733
2
3
4
5
No. P, Temp. R T, Z Gas Liquid Hydrocarbon Ratio N/A Mof bbl.
1 0.02 520 1.05 0.992 AP I Gravity of Liquid Hydrocarbons Deg.
2 Specific Gravity Separator Gas 0.7582 XXXXXXX
3 Specific Gravity Flowing Fluid XXXXX
4 Critical Pressure 668 PSIA. N/A P.SIA
5 Critical Temperature 494 R. N/A R
P, 63.2 P2 4
No.| P2 P, P’ P2P.2 | (1) P = L115 () P2 "= 1115
1 20.3 04 3.6 2 —
2 p c - P w Pc2 . sz
3 i AOF = Q P2 - 0.082
4
5 Pc2 - sz
Absolute Open Flow [ 082 ] Mefd @ 15.025 {Ange of Slope 0: 45 | Slope, n: 1
Remarks: * NO LIQUID MQDE DURING TEST.
Approved By Diiaston: {Conducted By: Calculated By: Checked By:
4 MISSION RES. MERV BUECKER MB
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- —vecs asera “eUVLUIN BEOVUALED  LDHJE DT A AU 4 WELL X0, 82
UNIT @ & SECTION : 11 TOUNSHIP : 22
"Ly 2827 B: 2827 L/E 1 G/GHIX 0.758
C02 : 2 82 . 4,084 2§ : DATE  :6-27-0%
d: 3.4 Fr :0.004413 GH : 2142.9 RANGE 6
VOL 1: 733 pSIAl 20.2 RESV.TEMP 102.3
VOL 2 : PSIA 2
VOL 3 PSIA 3 SHUT-IN PR= 3.2
VoL 4 PSIA ¢4
PCR : 668
ICR . 494
LINE | RATE 1 | { RATE 2 | | RATE 3 | | RRTE 4 |
! | l | | l | |
[ 18T ] D | 18T [ "2 | CIST | [ 18T | 28D
| | l | | ! | |
v ] 00730 0.073 | 0.000 | 0.000 | 0.000 [ 0,000 ] 0.000 | 90.000
2w | 534 | 534 | 534 | 534 | 534 | 534 | 53¢ | 534
3% | 562.3 |© 562.3 | 562.3 | 562.3 | 862.3 | 562.3 | 562.3 | 562.3
4 T 548.1) 5481 548.1 | 548.1 ] 548.1 | 548.1 | 548.1 | 548.1
PR {est) |  0.03 | [ 0.00 | [ 0.00 | [ 0.00 |
5 I{est) | 0.968 | 0.968 | 0.000 | ERR | 0.000 I ERR | 0.000 | ERR
6 11 | 530.5] 530.4 | 0.0 ] ERR | 0.0 | ERR | 0.0 ] ERR
TOGE/TT | 4.039 | 4.040 | ERR | ERR | ERR | ERR |  ERR | ERR
8 e | 1,164 1.164 | ERR | ERR | ERR | ERR | ERR | ERR
§ I-e-8 | 0,141 0.141 | ERR | ERR | EMR | ERR | ERR | ERR
0 pt | 2020 2.2 | 0.0 ] 0.0 | 0.0 | 0.0} 0.0 | 0.0
11 P2 /1000] 0.4 | 0.4 0.0 | 8.0 | 0.0 | 0.0 | 0.0 | 0.0
12 Fr [0.004413 [0.004413 [0.004413 |0.004413 10.004413 [0.004413 10.004413 [0.0044132
13 FesFrlZ | 2,341 ] 2,241 | 0.000 ] ERR | 0.000 | ERR | 0.000 | ERR
4 Fegn | 017 o147 [ 0.00{ ERR |  0.00 [ ERR |  0.00 | ERR
15 L/E(FcQm)| 0.0 | 8.0 | 0.0 ] ER | 0.0 | ERR | 0.0 ] ERR
16 P ]0.004139 [0.004138 | ERR | ERR | ERmR | ERR | ERR | ERR
I P2 | 04| 04| ERR | I | ERR | ERR | ERR |  ERR
8 P2 | 05| 05| ER | | ERR | ERR | ERR | IR
19 P ] 2.9} 2.9 | ERR | ERR |  ERR | ERR | ERR | ERR
20 o] 21 | ERR | ERR | EBR |  gRR [ ERR | ERR
A Pr | 0.03 | 0.03| ERR | gRR | ERR |  ERR | ERR | ERR
VR ¢ S S R K [ L1l 1.1 [ LI} 1y Ly | L1 1.11
23 I | 0.968 | 0.968 | ERR | ERR | ERR | ERR | ERR | ERR
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Il Pc= 63.2 Ppel-
Pt2 = 0.4 Py =
0.0
0.0
0.0
Pe2-Pud= 3,6 P2 -
ERR
ERR
ERR
1z 1,000
Ped/(Pc2-Pu2) = 1.115
ERR
ERR
ERR
[Pc2/Pc2-Pu2]n = 1,115
ERR
ERR
ERR
BOF= Q0  0.082
ERR
ERR
ERR .
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